7000 GeV pp Top (parton level)
E T T T T T T 1T 71 I | T 1T T 1T 7T 17 | T -
: AQ (ttbar) _
— --O-- Herwig++ 2.6.1a default —
3 --3-- Herwig 7.2.1 default
10° E= —a— Pythia 8.308 default =
— --¥- Pythia 8.308 vincia-default —
e ¢ Sherpa 2.2.9 default ]
10° &= =
10 = —
— ¥ T8 RS —
i RS 4 |
”’....’QQ’Q’
1

mcplots.cern.ch [arXiv:1306.3436]

3
i
Q
<
@
F!
(] ..
N X *
H 1 . - ' vy
o & . _ R
E FEE e g P BEHELEFBELBBEBBBB%M&EEE‘EEEEE\E\I&—
© - ™ 2 .
L o - ,..0--0--0' a
o5l ¢ ! ~
0.5
| " 1 1 1 1 " | 1 1 1 1 " | " 1 1 " 1 1 " | "
0 1 2 3

Rivet 3.1.10, = 200k events

N

0.5



	Contents
	Page 1


